Y TORNEO T-330

HEPE‘-IEHb KOMIMJ1eKTYHOLWNX

Ne OonucaHue Cneuundukaums Kon-Bo, wt
1 Pama onopHas 1
2 Pama ocHoBHas 1
3L/R CToVKa KOHCOM 1MNAPA
4 Pama KoHconm 1
5 MepeaHW poamnK 1
6 3aHW ponnK 1
7 AMOpPTM3aTOp NoAbema NnoaoTHa 1
8 Pama nogbema nonoTHa 1
9 KpblLKa MOTOPHOrO OTCeKa 1
10 KpbILKA MOTOPHOIO 0TCEKA HUXKHAS 1
1 KoXKyX MOpyyHSI 1
12 KpblILLIKa KOHCOIM HUXKHSAS 1
13 He3a0 KkaoYa 6e3onacHocTu 1
14 BUHT M5x8 2
15 OonsieTka NOpyYHs 2
16 Jeka 1
17 berosoe noso0THO 1
18L/R BOKOBOW KOXYX 1MAPA
19 3aWMTHbIN 3KpaH 1
20 PO/IMK TPAaHCMOPTUPOBOYHbIN 2
21 Onopa 2
22 3arnyuika 2
23 Crskka kabens 1
24 PemMeHb Np1BoAHOM 1
25 Onopa manas 2
26 3arnywka 2
27 PoAMK OnopHbIN 2
28 Lllanba 2
29 [anKa caMoKoHTpsLWAacsa M12 2
30 3arnywka 2
31 bont D12x44.5xM10x25 2
32 BOAT C BHYTPEHHWM LIeCTUrpaHHUKOM M8x45 2
33 BONT C BHYTPEHHUM LIeCTUrPaHHUKOM M8x40 5
34 BONT WeCcTUrpaHHbIA M8x15 2
35 BONT C BHYTPEHHWUM LIECTUrPAHHUKOM M8x15 6
36 BOAT LWecTurpaHHbIv M8x50 2
37 MoaaoH 1
38 [Moaywka aMopTmn3aLmMoHHas 2
39 Moaywka gexku 4
40 BOAT LecTUrpaHHbIv M8x55 2
4 BOAT C BHYTPEHHWUM LLeCTUrpaHHUKOM M6x37 2
42 BONT C BHYTPEHHUM LWeCTUrPaHHUKOM M6x25 2
43 BuHT M6x15 2
44 BuHT M5x12 5
45 BUHT M4x8 2
46 BuHT ST4x40 4
47 BuHT ST4x16 20
48 Camopes ST4x8 13
49 Mpocraska D35xD10x2 2
50 Camopes ST4x12 24
51 Kpbiwka C1cTeMbl 3anpaBkm Mac10M 1
52 Hanpaengiouas Tpy6ka CMcTeMbl 3anpaBky Mac/ioMm 1
53 LLlan6a ctonopHas D8x1.2 16
54 MaHesb KOHCOAN 1
55 KOodKyX KOHCO/IM 3aAHNIN 1
56 Bbik/ito4aTesib 1
57 [MpenoxpaHuTens 1
58 Kabenb nutaHus 1
59 Haknaaka npoT1BOCKOb3ALWLAA 1
60 lanKa caMoKoHTpsALWAacs M8 4
61 [arika CaMOKOHTPALLAACS M6 8
62 KoHTponnep 1
63 OCHOBaHMe garymka nyabea 2
64 Kabesib KOHCONM BEPXHUIA 1
65 Kabenb kOHCONM CpeaHuni 1
66 Kabenb KOHCONM HUXKHUI 1
67 Kntoy 6ezonacHocTn 1
68 LLlan6a D12x1.0 2
69 SnekTpoasurarenb 1
70 Mpecc-wanba 6
71L/R Jatumnk nynbca 2
72 KpoHLwTerH 2
73 Haknaaka femnduvpytouiasn 2
74 BuHT M3x15 2
75 ravka M3 2
76 3arnyuika 2
77 BOANT C BHYTPEHHUM LWeCTUrPaHHUKOM M6x20 4
78 BUHT M5x25 6
79 BuHT ST4x20 4
80 BUHT ST4x12 3
81 Llanba rposepHas D8 2
82 LLlanba D26xD8.2x2.0 2
83 BONT C BHYTPEHHUM LWeCTUrPaHHUKOM M8x25 1
84 KoHconb 1
85 SN1eKTPOMOTOp NoAbeMa NOJ0THA 1
86 LLlarnba caMoKOHTpsLWascs D10x1.2 4
87 BOANT LWeCcTUrpaHHbI M10x35 2
88 BONT C BHYTPEHHWUM LIECTUIPaHHUKOM M10x36 2
89 Favika caMoKoHTpALanca M10 6
90 BOAT C BHYTPEHHWM LIEeCTUrPaHHUKOM M10x55 1
91 BONT C BHYTPEHHUM LWeCTUrPaHHUKOM M10x40 1
92 KonbLLo NpOCTaBOYHOE 4
93 MpocTaBka 2
94 Llanba D20xD10x2.0 2




T-330

MoaeTasnibHaa cxema TpEHaXKepa

19
14
40 93 ¢



